Rin Fat Daddy's

as featured in or seen on:

The NATIONAL SAVEUR COOKING FOUNDATION

CATERING APPLICATION / CONTRACTUAL AGREEMENT Fill out and send to: Big Fat Daddy's 300 Shady Lane Manchester, PA 17345 410-908-9241 <u>BigFatDaddys@icloud.com</u> Bigfatdaddys.com

Catering Contract for	Email:
Terms: Approval Required, Deposit 25 perc	
Date of Event: Type of Ev	
	rrival much earlier to set up catering area/buffet
Arrival: .(The earliest we can be onsite is who Address of Event:	at time?)
Special Notes:	
opeoidi Notes.	
Catering includes the following 4 Entrees, 3 Side	es , Drinks, Condiments and Serving Wares
Walk though may be required. We will either us discuss with you what is our best bet.	
Choose 4 Of our Most Pop	ular Entrees: Please place "X"
Texas Roast Beef in Au' Jus	
Texas Roast Beef in Brown Gravy	
Sliced Pit Beef (* outside serving events on	ly. slicing station)
	its only) sub style texas beef onions peps cheddar
Hickory Hand Pulled Pork BBQ (no sauce,	but will have sauce in condiment area)
Apple Bourbon Pork BBQ (has our special	•
Porky Mac – Macaroni and Cheese with Por	11
_Sweet or Hot Italian Sausage (Brands m	ay vary)_w Peppers n Onions
Mango Chargrilled Chicken Breast (breas	t pieces sliced in a mango sauce)
_Grilled Chicken with Honey Mustard Gla	ze
_Grilled BBQ Chicken Cut Up (numerous sa	uces on side) various pieces, grilled
_Texas Meatballs in Brown Gravy	
_Texas Meatballs in Red Sauce sprinkled	with Mozzerella
Turkey Meatballs in Alfredo Sauce	
Hot Turkey in Homemade Turkey Gravy	
Pit Turkey (* outside serving events onl	,
Sliced Pit Ham (* outside serving events on	ly. slicing station)
Pineapple Ham Steaks (grilled pit ham stea	k pieces with pineapple sauce)
_Angus Burgers (not frozen patties)	
Beef Hot Dogs Nathan's or Equivalent	
_Crab Dip w Toasted Sourdough Bread	
_Crab Dip Nachos	
Crabby Fries (* outside serving events only)	
_Cheesy Bacon Dip Nachos	

Cheesy Bacon Dip w/ Toasted Sourdough Bread
Buffalo Chicken Dip w/ Toasted Sourdough Bread
Competition Chili, Wayne's signature chili loaded with ground beef, beans, sweetness and love.
Philly Mac - Philly Cheesesteak Meat with Onions and Peppers in Mac n Cheese
Beefy Mac - Ground Beef Meat in a Cheesy Mac and Cheese
Shrimp Penne Salad – Shrimp pieces in a penne pasta with celery and spices, (cold)
Ranch Penne Pasta w Broccoli & Bacon - Mayo & Ranch based cold salad.
RIBS (Upgraded Item)xxxxx approx limit of 4-5 bones per person upgraded see
chart, if you have people who are rack-eaters, you will quickly run out.
Choose 3 Of our Most Popular Sides: Please place "X"
Choose a 3 Of our Most Popular Sides: Please place an "X"
SERVED COLD: *Contains Mayo
Famous Redskin Potato *
_Classic Potato Salad *
_Dill Pickle Salad *
_Sweet Southern Slaw*
Cajun Slaw *
_Ranch Penne Pasta w/ Broccoli & Bacon *
_Classic Macaroni Salad *
Gluten Free California Spaghetti Salad California Spaghetti Salad
Camornia Spagnetti Salau Pea, Egg and Onion Salad*
Dressing
Tossed Salad Bowls with Two Dressings
Three Bean Cilantro Lime Salad
Smoked Apple Pie
_Apple Crisp
SERVED HOT:
Taylor Baland Barra Culturand Course 4 24 Mar.
Texas Baked Beans Spicy and Sweet, with some Meat
Everythanggg Beans Sweet and Tangy with all kinds of grilling scraps and MeatSimcha Beans Baked Beans loaded with some Meat but no pork for Jewish dietary restrictions
Green Beans with Corn & bits of Ham
Green Bean Almandine
Steamed Cauliflower & Broccoli in cheesy Cheddar Sauce
Hot Slam: Corn, Jalapeno's & Bits of Bell Peppers in a Butter Sauce
Grilled Corn Cobbies (hot) Seasonal.

UPCHARGE ITEMS: WILL BE AN UPCHARGE AND HAVE TO REVISE AMOUNT just let
us know
Ribs
Hourderves Platter
(Choose:
Pepperoni/Cheese/Vegetables with dips
Seasonal Fruit Veggies& Cheese Platter with dips
Includes Items Below:
X Assorted Can Sodas and Bottled Water Self Serv
X Lemonade / Tea Station Self Served and Sweetened
X Rolls, Cups, Ice, Straws, Fixing, Condiments, Disposable Utensils, Plates, Napkins
X Set Up and Clean up of the Buffet Area or Stand Area
X Rolls, Sliced Onions, BBQ Sauce, Mayo, Mustard Salt Pepper etc.
X Disposable Napkins, Forks, Knives, Disposable Plates (note if customer wants their own
special theme wares we will serve on them but we do not obtain them.)
X Disposable Tablecloth on serving table. Set up and clean up serving area.
21 Disposable Tublectom on serving tuble. Set up and clean up serving area.
Please Read This quote will be locked in with the published pricing on the date deposit if received . Walk
through will be conducted and logistics discussed. Early arrival and a space to park trailer, truck and prep /
service tent is needed by caterer and will be supplied as festival style unless customer obtains otherwise. Service
is disposable unless the customer provides otherwise. For tent, Access to electricity is needed. (Caterer to bring extension cords.) For BBQ Trailer units, we are self-contained but will require a large space and do a walk
through. We will know upon the walkthrough what we need and will not be hauling the trailer for long distances
Food is to be consumed onsite and guests may approach serving area as many times as they want Sorry, no doggie bags leftovers sole property of BFD due to the fact we bring more than is required due to all you can eat and is
donated to local organizations we work with. We will happily leave some leftovers for the host. Food is prepared
fresh at our facility and/or cooked onsite. One owner present onsite always. Insurance emailed to host prior to event
upon request, but know our insurance is bound by whoever is hiring us. If you are having a third party involved in such as a venue, it is up to you to carry insurance direct with the venue.
Please view all our Licensing here: bigfatdaddys.com/permits In the event of cancellation,ny deposited or paid
monies are non-refundable as we are saving this date for you Should you have to move event we can
attempt but there is no guarantee as we are booked. A non refundable Deposit of 25% is due to secure
date and lock in pricing as our rates are subject to change based on market fluctuations. Final payment,
head count and menu selections are due three weeks prior to event. We offer cash payment method
discounts. and Initial that you have read here(initials)
Please use the charts on the following page. Payment by Cash, Checks or Money
Orders will receive a Cash discount. Payment by Charge will have standard pricing.
Minimum # of Guests x \$ Published Pricing (Chart) = \$ (Total)
You are paying byCheckCashMoney OrderCharge
Tax, PA (6%)
Gratuities (18%) TOTAL: For This Job Invoice Total Based on the Attached Charts),
Deposit required 25% to hold date send to (or if paying cash we will make alternate arrangements during
walk though. PAYABLE/MAIL TO: Big Fat Daddy's 300 Shady Lane, Manchester, PA 17345
Customer:Date:By signing you indicate you
have read and agree to terms of contract your contract is subject to review. You have reviewed
the information sent. Countersigned by Caterer:

CHART A: BASIC / STANDARD Use this chart for standard catering services. The green chart is if you are paying by cash, check, or money order of which you will obtain a cash discount.

Head Cou	nt	Price Pe	Person	Gratuity	Tx on Pric	e``	Total					
SUFFET ST			ishes and 3 S					ARTY PLATTE	ERS)			
			D SUBTOTAL		6% tax	plus		JITIES 18%	,	TOTAL	MIN	DEPOSIT
at least	300	\$ 20.95	\$6,285.00	plus	\$ 377.10	•	\$	1,131.30		\$7,793.40	\$	1,948.35
t least	250	\$ 21.95	\$5,487.50	plus	\$ 329.25		\$	987.75		\$6,804.50	\$	1,701.13
t least	200	\$ 21.95		+ '	\$ 263.40		\$	790.20		\$5,443.60	\$	1,360.90
t least	150	\$ 21.95	\$3,292.50	plus	\$ 197.55		\$	592.65		\$4,082.70	\$	1,020.68
t least	100	\$ 22.95	\$2,295.00	plus	\$ 137.70		\$	413.10		\$2,845.80	\$	711.45
	00	ć 2F 0	\$2,076.00	nluc	\$ 124.56		\$	373.68		\$2,574.24	Ś	643.56
below	80	\$ 25.95	\$ 2,076.00	Ihina	y 12-1.50		Ų	373.06		72,374.24	т	043.30
below	80	\$ 25.95	\$ 2,076.00	Jpius	Ψ 124.50		,	373.00		<i>\$2,374.24</i>	, ,	043.30
			ARGE via S	1,		lans avai		373.08		72,374.24	7	043.30
tandard (Catering Pr		ARGE via S	QUARE				373.06		<i>\$2,374.24</i>	7	043.30
	Catering Pr	ices CH Price Pe	ARGE via S	QUARE Gratuity	payment p	e``	lable. Total		ERS)	<i>\$2,374.24</i>	7	043.30
tandard (Catering Print TYLE	ices CH Price Pe 4 Main D	ARGE via S	QUARE Gratuity	payment p	e``	Total		ERS)	TOTAL		DEPOSIT
tandard (lead Cou	Catering Print TYLE	ices CH Price Pe 4 Main E PER HEA	ARGE via S Person ishes and 3 S D SUBTOTAL	QUARE Gratuity ides + Dri	payment p Tx on Pric	e`` (NO RIBS	Total	ARTY PLATTE	ERS)		MIN	
tandard (lead Cou SUFFET ST t least	Catering Print TYLE PEOPLE	ices CHA Price Pe 4 Main E PER HEA \$ 21.99	ARGE via S Person ishes and 3 S SUBTOTAL \$6,585.00	QUARE Gratuity ides + Dri	payment p Tx on Pric nk Station 6% tax	e`` (NO RIBS	Total S< NO PA	ARTY PLATTE	ERS)	TOTAL	MIN \$	I DEPOSIT
tandard (lead Cou UFFET ST t least t least	Catering Print IYLE PEOPLE 300	ices CHA Price Pe 4 Main E PER HEA \$ 21.95	ARGE via S Person ishes and 3 S SUBTOTAL \$6,585.00 \$5,737.50	QUARE Gratuity ides + Dri	payment p Tx on Price nk Station 6% tax \$ 395.10	e`` (NO RIBS	Total S< NO PA GRAT	ARTY PLATTE UITIES 18% 1,185.30	ERS)	TOTAL \$8,165.40	MIN \$	DEPOSIT 2,041.35
tandard (lead Cou SUFFET ST	Catering Print TYLE PEOPLE 300 250	ices CHA Price Pe 4 Main E PER HEA \$ 21.95 \$ 22.95	ARGE via S Person ishes and 3 S D SUBTOTAL \$6,585.00 \$5,737.50 \$4,590.00	QUARE Gratuity ides + Dri plus plus plus	payment p Tx on Pric nk Station 6% tax \$ 395.10 \$ 344.25	e`` (NO RIBS	Total 5< NO PA GRAT	ARTY PLATTE UITIES 18% 1,185.30 1,032.75	ERS)	TOTAL \$8,165.40 \$7,114.50	MIN \$ \$ \$	DEPOSIT 2,041.35 1,778.63
tandard (lead Cour EUFFET ST t least t least t least	Catering Print TYLE PEOPLE 300 250 200	ices CHA Price Pe 4 Main E PER HEA \$ 21.99 \$ 22.99 \$ 22.99	ARGE via S Person ishes and 3 S SUBTOTAL \$6,585.00 \$5,737.50 \$4,590.00 \$3,442.50	QUARE Gratuity ides + Dri plus plus plus plus plus	payment p Tx on Pric nk Station 6% tax \$ 395.10 \$ 344.25 \$ 275.40	e`` (NO RIBS	Total S< NO PA GRATE \$ \$ \$	ARTY PLATTE UITIES 18% 1,185.30 1,032.75 826.20	ERS)	TOTAL \$8,165.40 \$7,114.50 \$5,691.60	MIN \$ \$ \$ \$ \$	DEPOSIT 2,041.35 1,778.63 1,422.90

CHART B: SINGLE UPGRADE Use this chart for standard catering services with one upgraded item (either Ribs or Hourderve Tray). The green chart is if you are paying by cash, check, or money order of which you will obtain a cash discount.

BIG FAT [DADDY"S C	AS F	I DISCO	UNTED ONE	UPGRADE	PRICE CHA	ART								
Must be	paying with	Ca	sh, Che	ck or Money	Orders										
Head Cou	unt	Pri	ce Per F	Person	Gratuity	Tx on Pric	e``	Total							
BUFFET S	TYLE	4 N	/lain Dis	hes and 3 Si	ides + Drir	nk Station (plus 1 UPG	RADE	Ribs as one	of those se	lections, or	add	lition of pa	rty platter	•)
	PEOPLE	PE	R HEAD	SUBTOTAL		6% tax	plus	GRAT	UITIES 18%		TOTAL	MII	N DEPOSIT		
at least	300	\$	22.95	\$6,885.00	plus	\$413.10		\$	1,239.30		\$8,537.40	\$	2,134.35		
at least	250	\$	23.95	\$5,987.50	plus	\$ 359.25		\$	1,077.75		\$7,424.50	\$	1,856.13		
at least	200	\$	23.95	\$4,790.00	plus	\$ 287.40		\$	862.20		\$5,939.60	\$	1,484.90		
at least	150	\$	23.95	\$3,592.50	plus	\$ 215.55		\$	646.65		\$4,454.70	\$	1,113.68		
at least	100	\$	24.95	\$2,495.00	plus	\$ 149.70		\$	449.10		\$3,093.80	\$	773.45		
below	80	\$	27.95	\$2,236.00	plus	\$ 134.16		\$	402.48		\$2,772.64	\$	693.16		
BIG FAT I	DADDYS ON	ΕU	PGRAD	E PRICE CHA	RT CHARG	E VIA SQU	ARE								
Head Cou	unt	Pri	ce Per F	Person	Gratuity	Tx on Pric	e``	Total							
BUFFET S	TYLE	4 N	/lain Dis	hes and 3 Si	ides + Drir	nk Station (plus 1 UPG	RADE	Ribs as one	of those se	elections, o	r add	dition of p	arty platte	r)
	PEOPLE	PΕ	R HEAD	SUBTOTAL		6% tax	plus	GRAT	UITIES 18%		TOTAL	MII	N DEPOSIT		
at least	300	\$	23.95	\$7,185.00	plus	\$ 431.10		\$	1,293.30		\$8,909.40	\$	2,227.35		
at least	250	\$	24.95	\$6,237.50	plus	\$ 374.25		\$	1,122.75		\$7,734.50	\$	1,933.63		
at least	200	\$	24.95	\$4,990.00	plus	\$ 299.40		\$	898.20		\$6,187.60	\$	1,546.90		
at least	150	\$	24.95	\$3,742.50	plus	\$ 224.55		\$	673.65		\$4,640.70	\$	1,160.18		
at least	100	\$	25.95	\$2,595.00	plus	\$ 155.70		\$	467.10		\$3,217.80	\$	804.45		
below	80	4	28.95	\$2,316.00	nluc	\$ 138.96		\$	416.88		\$2,871.84	Ś	717.96		

CHART C: DOUBLE UPGRADE Use this chart for catering services with both upgraded items Ribs & Hourderve Tray. The green chart is if you are paying by cash, check, or money order of which you will obtain a cash discount.

payın	g by c	as	šn, c	neck,	or mo	ney o	raer o	T WI	iich yo	u wiii	obtair	ı a	casn	aisco	unt.
BIG FAT D	ADDYS TW	οu	PGRAD	DES (Ribs + P	arty Platte	r) CASH D	SCOUNTED	PRICE	S Check, Mo	oney Orde	er, or Cash D	iscoı	unt		
	Price Per Person (Gratuity	Gratuity Tx on Price``		Total									
BIG FAT D	ADDY"S ST	4 N	lain Dis	hes (1 of the	em is Ribs)	and 3 Side	es + Drink S	tation	+ PARTY PLA	ATTER					
	PEOPLE	PEF	RHEAD	SUBTOTAL		6% tax	plus	GRATU	JITIES 18%		TOTAL	MIN	DEPOSIT		
Head Cou	ı 300	\$	24.95	\$7,485.00	plus	\$ 449.10		\$	1,347.30		\$9,281.40	\$	2,320.35		
BUFFET ST	T 250	\$	25.95	\$6,487.50	plus	\$ 389.25		\$	1,167.75		\$8,044.50	\$	2,011.13		
	200	\$	25.95	\$5,190.00	plus	\$ 311.40		\$	934.20		\$6,435.60	\$	1,608.90		
at least	150	\$	25.95	\$3,892.50	plus	\$ 233.55		\$	700.65		\$4,826.70	\$	1,206.68		
at least	100	\$	26.95	\$2,695.00	plus	\$ 161.70		\$	485.10		\$3,341.80	\$	835.45		
at least	80	\$	29.95	\$2,396.00	plus	\$ 143.76		\$	431.28		\$2,971.04	\$	742.76		
					•										
USE THE B	BELOW CHA	RT	F YOU	ARE PAYING	VIA SQUA	ARE / CRED	IT CARD PA	YMEN	rs						
		Pri	ce Per l	Person	Gratuity	Tx on Pric	e``	Total							
2 UPGRAD	DES	4 N	lain Dis	hes (1 of the	em is Ribs)	n is Ribs) and 3 Sides + Drinl			+ PARTY PLA	ATTER	CREDIT VIA SQUARE				
	PEOPLE	PEF	RHEAD	SUBTOTAL		6% tax	plus	GRATU	JITIES 18%		TOTAL	MIN	DEPOSIT		
Head Cou	300	\$	25.95	\$7,785.00	plus	\$ 467.10		\$	1,401.30		\$9,653.40	\$	2,413.35		
BUFFET ST	1 250	\$	26.95	\$6,737.50	plus	\$ 404.25		\$	1,212.75		\$8,354.50	\$	2,088.63		
	200	\$	26.95	\$5,390.00	plus	\$ 323.40		\$	970.20		\$6,683.60	\$	1,670.90		
at least	150	\$	26.95	\$4,042.50	plus	\$ 242.55		\$	727.65		\$5,012.70	\$	1,253.18		
	100	¢	27.95	\$2,795.00	plus	\$ 167.70		\$	503.10		\$3,465.80	\$	866.45		
at least	100	7	27.55	7 2,7 33.00				7	505.10						